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1. 13 6cm D3 Jifk ABCD —EFGH % 3 5 A, P, Q 22 FHETYIBI L7\, BP =5cm , FQ = 2cm. (X 1)
(SH13720%, Afk34r, B#k44r308, C#647)
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134 6cm DV /ifk ABCD — EFGH % 3 5 A, P, Q 2@ 5 FHiCYUIK L 7-\». BP =45cm , FQ =2cm. (X 1)
(SH150%, A3 40%, B#55r 30, C#74)
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REFAN SIEYIN EAK - IAK BHOCA—Y 02 BRERED

13 6cm DV /iR ABCD — EFGH % 3 5 A, P, Q 232 FHiCUIKi L 72\». BP =5cm , FQ =2cm. (X1)
(SH1720%, AM34r, B#k4sr308, C#647)
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2. 1 6cm DR ABCD —EFGH % 35 A, P, Q 2@ 5 FHICYIWi L 72\». BP =4.5cm , FQ = 2cm. (¥ 1)
(SH150%, A3 40%, B#5230F, C#79)
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